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The followihg are the Balance Sheets of Ram Ltd. and

ENGLISH VERSION

20
Rahim Ltd. :
Liabilities Ram.] Rahim [Assets Ram.| Rahim
Ltd. Ltd. Ltd. Ltd.
Eq. share Buildings | 2,90,000 |3,00,000
capital  {3,00,000 {4,50,000 |Machineries | 1,40,000 (1,90,000
11% Pref. Furniture 85,000 (1,50,600
share Investment 80,000 1,00,000
capital }1,50,0600(1,50,000 {Stock 85,000 90,000
6% Bills
debentures [1,80,000]1,80,000( receivable 18,000 14,500
General . Cash and '
Reserve 66,000{ 65,000 Bank 306,000 4(_),000
Creditors 9,000 . 12,000 |Preliminary
Bills payable{ 5,000 7,000 exp. 6,000 4,500
Bank ‘ o
overdraft 30,0001 25,000
7.34,000] 8,89,000 7,834,000} 8,89,000
Additional Information is given below :
Ram Ltd. Rahim Ltd.
Credit Sales. 13,00,000 20,00,000
Gross Profit 4,40,000 5,30,000
Net Profit 3,20,000 3,80,000
(Before 50% tax and debentures interest)
You are required to calculate the followin.g ratios :
(1) Net profit ratio |
(2) Stock turnover ratio
(3) Current ratio
(4) Gearing ratio
(5) Return on capital employed.
' OR
[ Contd...
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1 The Balance Sheet of Bharat Ltd. as on 315 March, 2015 24y

is as under :

Liabilities Amount] Assets Amount
Rs. Rs.

Equity share capiﬁal 10,00,000| Goodwill 1,900,000
Pref. share capital 5,.50,000 Land & Building 8,066,000
Share premium 50,000; Machinery 7.60,000
Profit & Loss Ale 60,000 Stock 2,35,000
8% Debentures 4.00,000] Debtors 2.,20,000
Sundry creditors - 1,54,000{ Bills Receivahle 50,000
Bills payable 20,000{ Cash on hand 10,000
Outstanding wages 16,000] Bank balance 70,000
Prepaid Rent 5,000

22.50,000 22,50,000

The following information were gathered from the Accounting
Records of the company for the year ended 31-3-15 :

Rs.
Opening Stock ... 2,75,000
Purchase ........... i 16,00,000
Gross Profit .ooooveveeeieeiee e 9,35,000
Operating expenses .....cooceeeeeeeereenens 4,20,000
Non-operating expenses ........ccccveeemnnan. 15,0600

Rate of tax is 50%.

Calculate the following ratios :
(1) Gross Profit Ratio _
(2) Net Profit after tax ratio
3y Operating ratio

(4) Current ratio

(5) Creditors ratio (360 days)
(6) Stock turnover ratio

(7 Debt-Equity ratio

(8 TLiguid ratio

(9) Return on capital employed.
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What is Budgetary Control ? Write its nature and

the cash inflow from operations.
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(a) 19
characteristics,
(b) From the following information prepare statement 10
changes in working capital and fund flow statement :
Balance Sheet
Liabilities | 31-3-14 | 31-3-15|Assets 31-3-14| 31-3-15
Share Goodwll 50,000, 40,000
capital 10,00,600 [11,00,000 | Land and 7
Debenture | 5,00,000 { 3,00,000] Bulding | 4,20,000 6,60,000
General Machinery | 6,00,000{ 8,00,000
Reserve | 2,00,600 | 2,00,000Stock 2,50,0@0 2,10,000
P &L Afe | 1,10,000 | 1,90,000Debtors | 3,0_0,00()' 2,40,000
Provision Bank o '
| for tax 490,000 1;10,000 balance | 3,00,000{ 24,000 |
Creditors 80,000 64,000 | Preliminary
Bills Exp. 30,000 20,000
payable 20,000 30,000
-19,50,000 19,94,000 19,50,006| 19,94,000
Additional Information :
(1) A machine with a book value of Rs. 40,000 was sold
for Rs. 25,000. |
(2) Income tax paid during the year Rs. 40,000.
(8) Rs. 50,000 provided as depreciation on machinery.
OR
(a) What is Management Information ? Give its 10
definition and characteristics.
(b) Give the meaning of cash flow statement. Explain 10
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3 {(a) 'The following information is velated to “Adits” Limited. 10
Present sales and production unit 1,50,000

Selling price per unit Rs. 15
Variable expenses per unit Rs. 6
Fixed expenses Rs. 11,25,000
From the above information find out -
(1} Break even point (in unit)
(2) Profit volume ratio
(3) Margin of safety
- (4) What is the profit al present sale 7
() If fixed costs were increased by Bs. 1,50,000 how

many units have to be produced and sold to get
profit of Rs. 2,25,000 7

(b) State the objectives of reporting and the types of 16
reporting.

OR

3 (a2 The following particulars relate to the manufacture 10
of product A and product B : '

Particulars Product A | Product B
| (Per unit) | (Per unit)
Selling Price Rs. 169 280
Direct Material Rs. 78 130
Direct Labour Rs. 40 - 50
Wages rate per hour Rs. 10 10
Variable overhead Rs. 15 25

Fixed expenses total - Rs. 2,60,000.

Which product would you recommended when labour

is in short supply ? Assuming labour hours as the key
factor and availability of which is 65,000 hours. The
maximum sale potential of each product being 10,000
units. Find the product mix which will give maximum
profit. ,

(b)Y Give the definition of Management Accounting. - 10

Write its nature and scope.
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From the following information find out Historical 5

Cost Accounting and Current Purchasing Power.
- Accounting adjusted cost of goods sold :

Opening stock - 60,000 - Price Index 100
Purchase - 95,000

Closing stock - 36,000

- Price Index 150
- Price Index 200
Inventory Valuation at FIFO method.

(1) From the following information calculate net 5

monetary gain or loss during the year 2015 :
1-1-2015 31-12-2015

Cash 35,000 25,000

Creditors 46,000 50,000

Debtors 60,000 56,000

Bills receivable 10,000 6,000

Bills p‘ayablle 5,000 3,000

Price Index 100 150

Averag"e' price index is 125.

(b) From the fo]lowing Balance Sheet of Laxman Lid. 16
make out “100 percent statement” :
Liabilities | 31-3-14| 31-3-15|Assets 31-3-14 | 31-3-15
Share Goodwill 48,000 | 48,000
Capital 4,00,000 | 4,060,600 |Building 1,60,000 | 1,64,000
Reserve 56,000 72,000 |Plant 1,48,000 | 1,24,000
Profit and Stock 1,60,0600 {1,37,600
Loss Afc 64,000{ 52,000 {Debtors 78,000 | 84,800
Creditors 36,800{ 24,800 {Cash 26,800 | 62,400
Provision |
for Taxation] 64,0007 72,000
6,20,800(6,20,800 6,20,800 |6,20,800
OR
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4 (a) Write a note about Interfirm Comparison.

(b) Explain current purchasing power method.

10
10

5 (a) Give the definition of Marginal Costing and describe 10

its advantages.

(b) Write objectives of Budgetary Control.

OR

10

5 (a) Write a note about Current Cost Accounting Method. 10

& Exp
@

(it) Usefulness of Break Even Analysis.
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